
Factorincr Note

Common
1) 12x2y - 6*y' - 3xy

2) 4x7 + 8x6 - 12xe

3) 3t(a+b) + 7(a+b)

Q 4x(x-y) - 3(y-x)

5) (x+2)(x-2) + 3(x+2)

Grouping
6)  ax+3b+3a+bx

7)  2+x3-2x2-x

B)  cx2+d-dx2-cx

Trinomials
9 )  w ' -14w+40

10)  x2  +  3xy  -7Oy '

11) po - 4p2 - 21

12)  3x2  +  11x  +  10

13)10x2  +  x  -2

14)Bx2+6x-9

15)12x2 -2x-30

16)9m2+33m+30

Difference of Sguares
17) 49xay2 - 422

18)  36x6 -25Yo

1e) 4e -  (2v-1) '

Answers:
:  3xl ' (4x - 2-r ' -  l )

=-4x "  (3 " t  -  x -2 )

= (1*  b lQr  +7)

: (,r - -r ')(4x + 3)

= (x*2 ) (x+ l )

: ( r *3 ) (a+b )

= ( . r . - lX r+ l t t , r - - l )

=  x ( c ' -  dX r  -  l )

-  ( rn , -  l0Xy,  + 4)

= (x *10 - r ' ) ( x -7 ) ' )

= \p  / l (P -  + - \ l

: ( 3 r *5Xx+2 )

:  (5x -  2) (2x + 1)

= (4tx . -3) (2x + 3)

= 2(3x - -s)(2x + 3)

: 3 (3x+5 ) ( x+2 )

= 17 x)  y  + 2x)(7 x2 t '  -  2 : )

= 16r' - 51'r;16,rr + 5J,t )

-  - , i ( .r ' -a)0'+3)

= (x * 3r '+ 6)(r + 31, '-  g120) x2 + 6xV + 9y2 - 36


